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N of associated (recoToSim) looper tracks vs dxy(PV)

1%} F 9] F %] [%]
X E : . X E : X F X -
s f : s S : s F ]
Z10°F e e glOsz— e 5 104k =
E : : E : 10°F
E . . ] E : 2L 3 2
i : [ N . s F 3
10 EF ‘ b 10 E.- ‘ 103 g
F & [ ; S
10°F ; 10°F s
E E 10%E~
10°F 10°F F
i i 10F-
10¢
ik 1
9 1.uof 9 9 1.uof 9
i K] 3 T
@ 14 @ 14
- -
085 -15-10 -5 0 5 10 15 20 10 15 20 085 -15-10 -5 0 5 10 15 20 0850 =15 -10 =5 0 5 10 15 20
trac V) (Ch)i o ol .dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
o — —] |
N of reco track vs| ———— —flt= g%% %%@%UTL|ER5 1000evt y(PY)
kY F : 2 F 2 M L
[5] M [} M [} Q
S al...i. E al .: . g g B
10 2 s 10 I ° Lt
E = b s g
10°F---t- 10°F- -+ g
107+ SR 107+
10E- -+ 15| SR SRR R PRPTERPERR T PPN PPN INNNNNN S EECHEEEEEEEE EEEE TS O R | | |5 [
1F- ' '- 1 '
[l 1 [l
o s 4 + o v " o il
© : © © ©
@ . 14 @ 14
9 | : oS L1 SESEE— Y E 11 & 0 1 RISGSRRRERRIRREL 1.0 L] & p o L. ... BEIIEEESNEIR (...
, ] 1 1 1 A
%3 —0 6-04-02 0 0.2 04 06 0.8 °2%98=0.6-0.4 -0. 0. 6 0.8 =0.8-0.6-0.4-0.2 0 0.2 0.4 0.6 0.8 2 04 06 0.8
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
[N of associated (recoToSim) tracks vs dz(PV) ] N of associated (recoToSim) looper tracks vs dz(PV) |
9] F 2] [%]
x r x X
Q I [=] Q
£10° £ £
= [ SRR CEE R P N PR S P = 2
1% s
10° i
E 102 -+ 3-
10°F E
F 10
10f----immmemyenes 3
1k P [P A | | R I e SO . 1§—-
o 4w ii‘ v o = o s o
TR - L Il
[ ] | 1 M 1
0gsl 0.95! ; : 0.95/ i i 0.95 i :
=30 - -10 0 10 30 =30 -20 -10 0 10 20 30 =30 -20 -10 0 10 20 30 =30 -20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
L F R g2
g g g
®© ° °
2 K g
o
3
Q e il I f 8 [T | 8
T '“i u‘“i AR 1 R
< pesillmi i Tl ¢ Hidm it sl 1 @
LA
0456 05 T 0¥ 05 0 05 T 0T 05 0 1 0T 05 0 05

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


